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201909 & 20l & LBHGIH AMBE= M2
AN NEEZA2
B ZBCHD HE L 29
S EA2A2I2 WA (e &)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
AN E A2 2,930,956 9,113,021 26,182,065
SN2 B & 29 1,565,995 7,563,986 AN5,997,991
SHE2F2 WA 1,275,170 1,121,636 153,534
a7 L FA22 249,136 245,160 3,976
201 et A | 87,536 86,760 776
01 AFR2t2l Yl 87,536 86,760 776
O1 etx=2H| 85,576
D(ola)ztsignsaz 12,000& 1205 = 12& 17,280
D (M) RRSsE 17,0003 x 165 *12& 3,264
D(EIN2EERSE 55,000& x5 x12& 3,300
D(EINNNEREE2 20,0002 x55 =128 1,200
Dst=Xl EAMHIA 0l 2
3,500,000 * 14 3,500
DENMNCIAZSE(2HHIH 2 95)
4,000,000& =14 4,000
>EAQIAZ RFIDE 500& x20,000 10,000
D>RFIDE B35 AEIAH 75&%20,000& 1,500
>EAOI3 1,000& 18,000 18,000
DEMZ AAT(EHAZE) HIE
9,000,000& *23| 18,000
PHOIMEEEI EH § A2F
922,000& 65 5,532
O3 g+ 1,960
PENZ 2YIANE FHAY
70,000& 791 x4 3] 1,960
202 04| 7,200 8,400 A 1,200
01 2LHOHI 7,200 8,400 A 1,200
OXtg ¥ M2 gR2F4 600,000& x12& 7,200
405 XtabF SHI 154,400 150,000 4,400
01 A&t =S F SHI 4,400 0 4,400
Otd#E MOt 1,100, 000& x4 H 4,400
02 & M7 Hl 150,000 150,000 0
Oge & otsE A 2 120,000, 0003 * 14 120,000
OHlENd 2 30,000, 000& *14] 30,000
CXNENZAY 29 128,813 133,033 N4, 220
201 Bt A | 128,813 133,033 N4, 220
01 At 22l Yl 2,347 2,365 AN 18
O1 dEtx=2H| 2,347
POIEXE BRH As57 2ZEYH A2+
sz 18,500& *89CH 1,647
DEALARES 2 700,000& *14] 700
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Sl S22 ast EERED
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SA BB (3H) - NRAY - B Ol At o %@i HRE2
02 2224 H| 126,466 130,668 N4, 202
O1 2222 ¢ HMHA 33,080
DOIHY M3 HMH(SARB)
1,800,000& x12& 21,600
> SMS IS2(AM, 0 Bt EY S 0oF
LH) 320,000 x12& 3,840
EHO0|X 2Q&0MHHA 2 0|l22
3,800,000 =14l 3,800
>olXE VOONHIA ole2
320,000 x12& 3,840
O3 A& Z&H |AHl 93,386
DENZEIANAE EF RAELE
513,050,000 *9/100 46,175
DEA2E T2 (KOLASIT) S X2
21,402,000\_4*15/100 3,211
DAEAMZH (MB 2 88) SXES
180,826,000 *8/100 14,467
> EOotAH| (gete 2 15) KBS
40,040,000 *12/100 4,805
DOIEXNE RPEHABHYUAAYE SRAE%
31,060,000% x12/100 3,728
>OolEXE PC RAES 100,000& ~89CH 8,900
DPUERA &H SXEB4(HHL)
2,000,000& =14l 2,000
PUERA &ZH SAEBL (A2
2,000,000& =14l 2,000
DPEMZ SHOIKN SAE%
54,000,000 «15/100 8,100
HALAIE R X 22 865,526 716,423 149,103
201 LBt 687,726 653,823 33,903
01 AP 22| H| 38,400 38,400 0
O1 btx==2H| 31,200
DOIZEX HOZE MI2(FEX, &AW 5)
1,500,000 x12& 18,000
PHASE U HEY DY
1,100,000 x12& 13,200
O6 & x= 7,200
>DE4£I Y Hd ¥x=2 600,000 x12& 7,200
02 2324 649,326 615,423 33,903
O122=2 2 HA 176,920
DEHR2HRZ 120,000 x12& 1,440
DOIAAID MY BEE 200,000 =14l 200
DEIR2B 12,000,000 x12& 144,000
DAaGHEER 2 2,500,000& x12& 30,000
DEMBESH (B 2T N2E 3 2 25)
360,000 *x3= 1,080
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
D> Aot & 3l 100, 0002 14! 100
>e=2&I|I|= 3l 100, 000& * 14! 100
02 A=l 60,313
D EAIDEA ()
8403 x41 . 7Ex2[H*8Al 2tx72L 40,353
D EAIDEA (W E)
5403 *33E 201 *8Al 2+ x42L 11,976
DEANA(2E2H)
8403 x16.5E 1 LH*8Al 2tx72Y 7,984
O3 A& & Hl s Xt 396,100
DAEEAZ AIE2 R (I, S8,
a2 35) 20,000,000& =14 20,000
> Ul &S 2 F I (250kw) el
2,000,000& »14! 2,000
DEHEZ 22 1,000, 000& 14! 1,000
>PEXJI, SIEEI EHuA
7,000,000& 13 7,000
D20 M2 3,000,000& =2CH 6,000
>&AIA 2ZFH 2,000,000& =14l 2,000
>EAN FASAH 330,000,000& =14 330,000
>R MIlAH OHE B (ST 1,20
OKW/H| &2 & ] 250KW) 4,400,000& %14 4,400
DEAI A L B HAH(SZD 300)
160,000 =3CH »12& 5,760
Zed etdztel HdE 500,000 «12& 6,000
> S AIJEA OFM 2 AL 100, 000& * 13| 100
DOS0IZ2AME SJE =Z2HAM
1,000,000& =13l 1,000
DEAN HHAS 350,000& =63l 2,100
DA ASAE 3,000,000& » 14! 3,000
DUYAE ASAS 40,0003 +84 *2CH 640
DM HA 800, 000& »23] 1,600
DU E4 500,000& x73] 3,500
O4 Xtgd el 15,993
POISEMZ MNERIU(SEUHE)
12,000, 0002 = 1CH 12,000
DASUX MHHRXE(SESE)
3,993,000 = 1CH 3,993
202 Oddl 10,800 9,600 1,200
01 = LH 4 1l 10,800 9,600 1,200
OFARX 2 g2=2 900,000& »12& 10,800
206 M= Hl 4,000 3,000 1,000
01 MHZ 8l 4,000 3,000 1,000
OA= ,d8I|, 84,22 JIH MHE
4,000,000& =14 4,000
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SA - BB B () - MM - BES Ol &t o San HmEET
401 Al HIZ 201 Y| 163,000 50,000 113,000
01 A& HI 163,000 50,000 113,000
OAMNEEMZ =F2te] 22,000,000& » 14! 22,000
O2=f CCTV & XIS At 22,000,000& =14 22,000
2R 2otsS EXISA 13,000, 000& 14! 13,000
OFAU SH240 NSHOALY &3
11,000, 000& 14! 11,000
O3 s s4 HHdSA 5,000,000& x 14! 5,000
OLXNEXNZAY MAHE UPS =&J| il
13,000, 000& 14 13,000
O=22AQdAE8 dI|=dB AXIS At
15,000, 000& 14 15,000
OF - =2 222 WOUHHE EXSA
12,000, 000& * 14 12,000
OUIstizd & SEAHIA MSHH NS
A 8,000,000& x14! 8,000
O8d FA E9(UHR,22)
15,000, 000& * 14 15,000
OdE 2Z2YX BA 5,000,000 =14l 5,000
O=2x=49E dSHH 4X 5,000,000& x 14! 5,000
OROtAZ4A AU (MLHLEX HHEZ)
15,000, 000& * 14 15,000
O&ute et2ets 22 A 2,000,000 x14) 2,000
SN2 0IZ2XMEIA MBS 31,695 27,020 4,675
201 £B-2dH| 20,495 18,620 1,875
01 At 22/l 20,495 18,620 1,875
O1 get=&Hl 20,495
PUHE2AFS 700& =7, 7000H 5,390
PUH=E3RFES =2y 2 80,000& »440H 3,520
DENEE 2,500& 55004 1,375
DEMSEII Z2H 22 45,0003 7 0H 315
PEM SIX 28 EX 22,000 11004 2,420
>EHE 2,500& =1, 1004 2,750
DEMUE SHHHYI 6,000 x5521x12& 3,960
DAsSUHEREI Z8lH X 5,000&+902 450
>Relgtg) Zely EX 4,500&*708 315
202 od4dl 6,000 8,400 A 2,400
01 = LH o4 1l 6,000 8,400 A 2,400
OHEAMNHIA RFX 500,000& 123 6,000
405 Xt&tE SHI 5,200 0 5,200
01 AL = ZH SHI 5,200 0 5,200
OZeglH(UW&Esdse3z) 2,600,000 »2CH 5,200
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SA: NEENZ
Hu: ZTCHB HE Y 29
Sel: SNBSS X (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
DS 22l AAE(K-LAS, #0IS) RAE=>
50,700,000% *15/100 7,605
PA2EM2 dMFH FAES
4,200,000& =14 4,200
307 gl2tol & 45,500 45,500 0
02 IZHE M AHE L 45,500 45,500 0
ONSTHZ THRUH
45,000,000& =14 45,000
OXSEN2 281 1= 500,000& *13] 500
2CN2 23EAL X& 4,000 4,000 0
307 glz2+ol & 4,000 4,000 0
04 QIZFHALAIH E = 4,000 4,000 0
o2 M2 23tadAt X& 4,000,000 141 4,000
S3&EM2 N 94,000 54,000 40,000
207 RO ] 40,000 0 40,000
01 A3 39 40,000 0 40,000
ON2gd SEI HE A7 &Y
40,000,000& =14 40,000
308 XXM SOIA 54,000 54,000 0
08 WFJ 20Ut E=x 54,000 54,000 0
O33&M& Uz P (nsZl) 54,000
DRAFTUFZ23 44,000,000& =14 44,000
DEUATAS 10,000, 000& * 14 10,000
St Al BHEIDl ALY 20,000 27,000 A7,000
307 21201 A 20,000 27,000 A7,000
02 B LAHEX 20,000 27,000 A7,000
Ost ZAl 8 ® 7] 2S MY
20,000,000& »14! 20,000
Nz 28 XA 30,000 0 30,000
201 et 8,600 0 8,600
01 At 22l I 8,600 0 8,600
O1 ¢et=&Hl 8,600
DEAST M2 22 AIAE(K-LAS, #018) =&
= 4,300,000 *2H 8,600
405 XtatE SHI 21,400 0 21,400
01 AL ESFH S 11,400 0 11,400
ORSENZ =4 11,400
>PC 1,300, 000& »2H 2,600
>RFIDEIH DI 2,750,000 »2CH 5,500
> MOt 1,100, 0002 *3H 3,300
02 TN 10,000 0 10,000




SN AN
MM DDCMD HE L 29
e SANTEAS X2 EER-ED
- _ . RE!
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
| | | oYt U OISTA +¢ 10,000, 0002 * 14! 10,000
eSS (AP AR 1,235,000 1,279,600 A 44,600
=RSINES 1,235,000 1,279,600 A 44,600
NER P, 1,235,000 1,279,600 A 44,600
311 X 20| XA & 255,000 299,600 A 44,600
01 Al -2 - RREHLII 2R 20| KA 192,000 216,000 A24,000
ONBELSTHZ M= 0K &8
192,000,0002! * 14! 192,000
02 ESI2SII X 20| KHars 63,000 83,600 A20,600
ONBESLZAHZ XY 0Ol X As
63,000, 0002 *1 4! 63,000
601 X222 At 980,000 980,000 0
01 Al -2 - RRNENLIZ2HU2A2 45 600,000 600,000 0
ONBEATAHZ M= 23 ps
600,000,0002 *14! 600,000
02 EslZSIIEXYZAZ A S 380,000 380,000 0
ONBELTHZ SXMHY 242 &8
380,000,0002 *14] 380,000
HE2YHH (AP EA) 129,961 269,435 A 139,474
olg ey 97,709 234,075 A 136,366
oz 2oy 97,709 87,759 9,950
101 Q124 Hl 97,709 87,759 9,950
01 2= 79,757 70,422 9,335
OAMeZR2Y 10,2992 x2201 %300 Al 2+ 67,974
OANZQ2 RS (0PI ZOIR)
10,2992 x2201 %52 A| 2+ 11,783
02 JIELR 2= 9,270 9,003 267
OANelzesg 10,299 x301 *300 Al 2 9,270
03 RIHA2ZRE S 8,682 8,334 348
OcixazAd 8,682
DHAMERA(SHZ2)
14,4692 x1001 60 Al 2+ 8,682
Il 22 32,252 35,360 A3,108
Il =& 32,252 35,360 A3,108
201 L2 A 21,672 26,760 A5,088
01 AFRZH 2l 20,832 25,920 A5,088
O1 ger24| 12,000
DEASY 224 1,000,000 * 122 12,000
O5 Z &l 8,832
Dot g2 8,000 x2301 x4 x 122 8,832
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
02 =224l 840 840 0
O133=2 ¥4 HA 840
POISEAM2 SHEAER 30,000& 122 360
PRAdgsSE 40,0003 x12& 480
202 044l 5,600 2,000 3,600
01 = LH o4 1l 5,600 2,000 3,600
OJleg =80l 3,600,000 »14 3,600
OZEMZ RFA 220Hl 2,000,000 x14) 2,000
203 R =&t 4,980 6,600 A 1,620
04 FN2ELRZ=TH 4,980 5,160 A 180
ORAN2EYE=4HI 415,000& 123 4,980




